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Read the following passages and answer the questions

1. Hecould notsuppressthe desire of his heart, even though he well knew the cold stare of refusal in
their eyes.
a. Whatdoes ‘he’ well know?
b. What ‘desire of his heart’ is being talked of?
c. Why hasthe narrator said that ‘he’ couldn’t suppress his heart’s desire?
d. Whatdidthe child do when he couldn’t suppress his desire?
2. Thinkingto humour his disconsolate charge by a gift of sweets,them an took him to counter of
sweet shop.
Whois ‘the man’ being referred here?

a.
b. What wasthe mantryingtodo?

9]

What was the real intention of the man?

e

What do you mean by the phrase-to humour the disconsolate charge.

Answer the following questions in about 30 words:

What aspects evidently show that the child was a nature lover?

When did the child feel that his parents would call him ‘greedy’?

Describe the moment when the child realizes that he is lost.

What was the child’s reaction when the man took him to the balloon seller?

Why was the child lagging behind in the crowd?

®©® N o k& W

What excuse will the parents provide for not buying the flowers for the child?
Answer the following questions in about 100 words:

9. Theauthor beautifully depicts the typical village fair. Explain in detail.

10. Though theauthorhas beautifully depicted the village fair, he hasbeen more successful in depicting child



psychology in the story. Elucidate.
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Q1. Read the passage given below and answer the questions that follow: (8 Marks)

The Camera Can Lie—Sometimes
1. Much to their annoyance, pen-pushers are routinely reminded that a picture is worth a thousand words—
except that sometimes they can be wrong “words” as happened last week when Reuters was forced to
withdraw more than 900 pictures taken by a freelance photographer after it was suspected that he had
“doctored” two recent photographs of the Israeli-Lebanon conflict.

2. In one picture, the smoke billowing from an apartment block after an Israeli air strike was allegedly thickened
by the photographer, Adnan Hajj, to dramatise the impact of the bombardment — and in another two flares
were suspected to have been added to an image of an Israeli jet in action overLebanon.

3. The allegation of doctoring, first made by several bloggers, was confirmed by Reuters after an in-house
investigation. Mr. Hajj, who had sold pictures to Reuters for more than 10 years, denied manipulating the two
photographs and attributed the thick smoke in the first picture to “bad lighting” and the fact that he was
“trying to remove dust marks.” As for the second, he said, “there was no problem with it — not atall.”

4. But Reuters was not convinced and said it was removing all of this pictures from its database and would not
be using his service any more. “This represents a serious breach of Reuters’ standards and we shall not be
accepting or using pictures taken by him,” the news agency said.

5. The idea that the camera never lies is as misleading as the notion that all statistics are meant to mislead.
What the “eye” sees is not always what it looks like, thanks to the many ways in which first the camera and
then the photograph can be — and is often — manipulated. Indeed, a photograph can be manipulated in more
ways — and more

effectively — to convey a false reality than it is possible to do through the written word. Ask any clever
photographer and he will tell you the tricks camera be made to play.

6. At a seminar recently, one journalist recalled how there was a time when British photographers, covering
stories about famine or floods in Third World countries, would carry teddy bears with them in order to use
them as prop for pictures supposedly showing that all that was left in household, stricken by death and
destruction, were children’s toys. (Source: The Hindu)

1.1 On the basis of your reading of the passage given above, answer the following questions.(1 x 8 = 8)
(a) To interest the children Teddy bears were used as:

(i) manipulations (ii) props

(iii) conflicts (iv) statistics



(b) A can tell us about the tricks played by camera.
(i) picture (i) photographer
(i) reuter (iv) dramatist

(c) The allegation of doctoring was confirmed by:
(i) Israelis (ii) Adnan Hajj
(iii) Reuters (iv) Freelancer

(d) The picture of the smoke rising from an apartment block in Lebanon:
(i) was actual picture

(ii)) was manipulated by a photographer deliberately

(iii) appeared thick in picture due to bad lighting

(iv) all of these

(e) As per the passage, a camera:

(i) always gives fake pictures

(i) never gives fake pictures

(iii) sometimes many give fake pictures
(iv) none of these

(f) British photographers left teddy bears in household, stricken by death and destruction in floods in
Third World countries with a view to:

(i) Showing that all that was left in household were teddy bears

(ii) Showing that most of the flood victims were children.

(iii) both (i) and (ii)

(iv) neither (i) nor (ii)

(g) Reuters deliberately accepted the manipulated pictures. (True/False)

(h) The allegation of manipulating pictures was confirmed by
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Q1. Complete each sentence below with a modal verb from the word bank

Can may must should
couldn’t ought to might will
1. You tell me the truth for your own good.
2.1 find my shoes anywhere.
3. We arrive on time or else we will be in trouble.
4. He shoot the basketball at the rim.
5. you let me know the time?
6. They not be trustworthy enough.
7. you please pass the salt?
8. We prepare for the big exam.

Q2. Fill in the blanks with appropriate modals

1. Why | care about your problems? (can/should)

2. Tom and Rebecca give their daughter a lot of presents. They really love her. (can/must)

3. We go out to that new ltalian restaurant tonight. (should/must)

4. Everyone who crosses the border show his/her passport. (should/must)

5. P1: When is Tom coming? P2: He's on his way. He be here any minute. (should/must)

6. P1: my friend sleep over? P2: Yes, but he'll have to get permission from his parents.(can/should)
7. you always be so mean to everyone? (can/must)

8. you please try to be nicer to your brother? (can/must)

9.1 get here earlier because of the traffic on the freeway. (shouldn’t/couldn’t)

10. P1: Which language | learn - French or Italian? P2: | think you learn French.

(should/must)
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Q1. Read the passages given below. There is an error in each line. Identify the erroneous word and replace it
with the correct word.
Incorrect Correct

More and more people in the country are looked

at the sun for cleaner energy options and rightso

India receives a huge amounts of sunlight every

year. If harnessed with cost effective methods

this sunlight could be used to producing awhooping

600 giga watts of electricity. This is more than 5 time

the annual power consumption of India what

is only 120 giga watts. But in spite the fact that the

potential is huge, what India currently deriveis

only 10-15 mega watts annually.

Q2. Read the passages given below. There is an error in each line. Identify the erroneous word and replace it
with the correct word.
Incorrect Correct

The most common utilization for solar energy




is been with solar photovoltaic (PV) cells. Here

the sun’s light is converting by the PV cells into

Direct Current (DC).These electricity can then be

used to running almost all gadgets in your home.

Another method involve the use of sun’s heat

instead of light. Energy producing from the sun’s

heat is called thermal solar energy. Producing

of thermal solar energy has more cost effective

then the photovoltaic cells method mainly because

here you can converts up to 50-80% of the sun’s

energy as opposed with PV which converts only 15%.
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Q1. Read the conversation given below and complete the paragraph that follows.

Ganga: How did you spend your holidays?

Gautham: | went for cricket coaching. What did you do?

Ganga: | went for the NTSC coaching classes.

Gautham: At least during the holidays you could have enjoyed yourself.
Ganga: | enjoyed going for the coaching classes.

Ganga asked Gautham (a) .....cccceeveuenee. holidays. Gautham said that (b) .................. Cricket coaching and wanted
to know (€)..cceeeeeennnnn. during the holidays. When Ganga told him that she had gone for NTSC coachingclasses,
Gautham told her that she could have enjoyed herself during the holidays. Ganga replied that (d) ......c..ccu......
the coaching classes.

Q2. Complete the following passage with the most appropriate words from the options given.

An ATM, or Automated Telleris (@) ....cccoeevvvvrrennnnnns (a, an, the, no word) simple machine which (b)
............. (aCting, acted, acts, is acted) as an extension of a bank even (c).................. (as, which,
when, where) the bank is closed. The machine (d) ............... (was, is, has been, should be) usually
placed (€)....ccccuunueee. (at, of, in, on) a small room with a security guard stationed outside. You can (f)
.................. (withdraw, withdrawal, withdrawn, withdrew) money from your account, deposit
cheques, order (g) ...cccvevnen.. (a, an, the, no word) cheque book, get (h) ......ccccuveeeeeee.. (my, our,
somebody’s, your) account statements etc. The ATMs work round the year 24 hours a day.

Q3. Read the following conversation carefully and complete the following passage.



Ruby: Raj, how is your knee today? Is it still giving trouble?

Raj: No. It feels a lot better today. | went to a doctor and he told me it was only a pulled ligament. | should be
fine for Saturday’s game.

Ruby: Great. But why don’t you take it easy today? Maybe just practice throwing. Don’t do any running.

Raj: OK.

Ruby asked Raj (@) ...ccoeeeeenee. and if it was still giving him trouble. Raj replied that (b) ............... He told him that
he had gone to the doctor, who (c) ......c......... that it was only a pulled ligament. He (d)................. for Saturday’s
game. Ruby then suggested that he should take in easy that day and just practice throwing and not do any
running.
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Write the correct answer in each of the following :

1.

The linear equation 2x — 5y = 7 has
(A)  Aunique solution (B) Twosolutions
(C) Infinitely many solutions (D)  Nosolution

The equation 2x + 5y = 7 has a unique solution, if x, y are :

(A) Natural numbers (B) Positive real
numbers
(C) Real numbers (D) Rational numbers

If (2, 0) is a solution of the linear equation 2x + 3y = k, then the value
of kis

(A) 4 (B) 6 (C) 5 (D) 2

Any solution of the linear equation 2x + Oy + 9 = 0 in two variables is of the
form

® - °
Erm) (B) (n/_z_)
9

© © - (D) (-8,0)



The graph of the linear equation 2x + 3y = 6 cuts the y-axis at the

point
(A)  (2,0) (B) (0,3)
(@ (3,0 (D) (0,2)

The equation x = 7, in two variables, can be written as

(A) 1.x+1.y=7 B) 1.x+0.y=7

(C) 0.x+1.y=7 (D) 0.x+0.y=7

Any point on the x-axis is of theform

(A (xy) (B) (0,y) (C) (x,0) (D) (% x)
Any point on the line y = x is of theform

(A)  (a, a) (B) (0,a) (C) (a,0) (D) (a,-a)

9. The equation of x-axis is of the form

(A) x=0 (B) y=0 (C) x+y=0 (D) x=y

10. The graph of y=6isaline

11.

a parallel to x-axis at a distance 6 units from the origin
b. parallel to y-axis at a distance 6 units from the origin
C. making an intercept 6 on the x-axis.

d. making an intercept 6 on both the axes.

x=5,y=2isasolution of the linear equation
(A) x+2y=7 (B) 5x+2y=7 (C) x+y=7 (D) S5x+y=7

12. If a linear equation has solutions (-2, 2), (0, 0) and (2, — 2), then it is of the

form
(A) y—-x=0 (B) x+y=0
(C) -2x+y=0 (D) —x+2y=0

13. The positive solutions of the equation ax + by + ¢ = 0 always lie in the

a. 1stquadrant (B) 2ndquadrant
(C) 3rdquadrant (D) 4thquadrant



14. The graph of the linear equation 2x + 3y = 6 is a line which meets the x-axis at

15.

16.

17.

18.

19.

20.

the point
(A)(0,2) (B) (2,0) (€) (3,0) (D) (0, 3)
The graph of the linear equation y = x passes through the point

(A)(3/2,-3/2)  (B)(0,3/2)  (C)(1,1)(D)(-1/2,1/2)

If we multiply or divide both sides of a linear equation withanon-zero
number, then the solution of the linear equation :

(A) Changes
(B) Remains the same
(C) Changesin case of multiplication only

(D) Changes in case of division only

How many linear equations in x and y can be satisfied by x=1and y = 2?
(A) Onlyone (B) Two (C) Infinitelymany (D) Three
The point of the form (g, a) always lies on :

(A)  x-axis (B) y-axis
(C) Ontheliney=x (D) Onthelinex+y=0

The point of the form (a, — a) always lies on the line

(A) x=a (B) y=-a (O y-=x (D) x+y=0
Write whether the following statements are True or False? Justify your
answers :

The point (0, 3) lies on the graph of the linear equation 3x + 4y = 12.

The graph of the linear equation x + 2y = 7 passes through the point (0, 7).

The graph given below represents the linear equation x + y = 0.




Fig. 4.1
iv) The graph given below represents the linear equation Y

x =3 (see Fig. 4.2).
4_._
v) The coordinates of points in the table: 3
2__
X 0 1 2 3 14
2 3 4 | 5| 6
—t ——X
O 1 23 4
represent some of the solutions of the
equation )
x—y+2=0. Fig. 4.2

vi) Every point on the graph of a linear equation
in two variables does not represent a solution
of the linear equation.

vii) The graph of every linear equation in two variables need not be a line.
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1. Which of this statement are axioms, postulates, definition, theorem?

2.

4,

o o0 oo

e.

f.

g.

If equals are added to equals, the wholes are equal

The edges of a surface are lines

All right angles are equal to one another

If first thing is greater than second and second is greater than
third, then first is greater than third

The whole is greater than the part

Two distinct lines cannot have more than one point in common
For every line | and for every point p not lying on the line |,
there exists a unique line m passing through p and parallel to |

Define each of the following terms
a. Parallel lines

b. Angle

c. Line segment

d. Radius of a circle

e. Square

f. Quadrilateral

True or false statement

S S, Qoo T o

In geometry, we take point, line and plane as undefined term
Two lines drawn in a plane always intersect at a point

Only one line can pass through points x and y

If two circle are equal, there radii is also equal

Three points are concurrent if they have only one common point
The statements that are proved are called postulates

The whole is greater than the part is a postulate

If the area of square x equals to the area of rectangle y and the

area of rectangle y is equal to area of circle z,then area of square x
equals to area of circle z.
It is known that x + y = 10 and that x = z. Show that z + y = 10?



5. Euclid belongs to
a. Greece
b. Italy
c. Germany
d. Egypt
6. Ram salary is equal to mohan salary, due to recession, the salaries of
ram and mohan are made half. The final salary of ram will still be equal
to mohan.
a. 1st axiom
b. 7th axiom
c. 6" axiom
d. 2" axiom
7. ltis known that if p+g=11 then p+g+r=11+r. The euclid axioms that
illustrates this statement is
a. 1staxiom
b. 3™ axiom
c. 4™ axiom
d. 2"daxiom
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1v/12x /15 =

a. 5

b. 5./6
c. 6\/5

2. Whichofthe followingisequal to‘x’?

2T
b £ 7 w € 12
e



3.Anirrational number between 5 and 6 is
a. none of these

b. /b + 6
C.A/5— 6
d4/D X 6

4.
2+/3 +4/3 is equal to
a.2\/6
b.34/6

c.3

d.3/3

5.
If =348 thenthevalueof (5112 + j—2> is

a. 32

b. 34

d 12
6. Fill in theblanks:
Thetwo rational number which are their own multiplicative inverses are

7. Fill in theblanks:

f 2
\/3*\/@

Thevalueo



10.

11.

12.

13.

14.

Find: B
12573

Identify whether 4/45 is rational number or irrational number.

.

Write the decimal form and state its kind of decimal expansion 100

Simplify the expression{~1/5 — /2)(v/5 ++/2)

Find threedifferentirrational numbers between the rational
numbers 2 and 9

Rationalize ad 11'n tor of the followin Ve
ationalize a denominator of the followi g'\/§+1

3 ¥x6% x\/98
Prove that: ‘ =28,/2
5 {/1/25 (15) 0313




GIVEN DATE: 18/4/2020 SUBMISSION DATE: 20/4/2020
SANT NIRANKARI PUBLIC SCHOOL
AVTAR ENCLAVE, PASCHIM VIHAR
CLASS IX
BIOLOGY WORKSHEET- Il

CH- The fundamental unit of life
1.Write three different types of plastids?
2.Give one example of osmosis.
3.What is plasmolysis in a plant cell?
4.Write the two cells which keep on changing their cells.
5.Expand DNA.
6.Why plant cells have large shaped vacuole?
7.Why is endocytosis found in animals only?
8.What happens if someone drinks salty water?
9.Write the two conditions for osmosis.

10.State True or False: Eukaryotic cells are larger in size than a prokaryotic cell.
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CH- MOTION
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1. If a body is at rest, then its velocity-time graph is

1
2. Which of the is true for displacement?
A) Tt cannot be zero

B) Its magnitude is greater than the distance travelled by the object.

C) It’s the shortest distance between initial & final position.



10.

11.

D) It is a vector quantity.

a. (A), (B) and (C) arecorrect
b. (A) and (B) are correct

c. All of these
d. (C) and (D) are correct

Suppose a boy is enjoying a ride on a merry-go-round which is moving with a
constant speed of 10ms™ 1. It implies that the boy 1s [

a. moving with no acceleration
b. atrest
c. 1n accelerated motion

d. moving with uniform velocity

What does the slope of velocity-time graph gives? I
a. acceleration

b. force
c. displacement

d. distance

What does the odometer of an automobile measure? I
Define the term "displacement". [
State SI unit of speed. I
Why rest and motion are called relative terms? 3

A farmer moves along the boundary of a square field of side 10 m. in 40 s.

What will be the magnitude of displacement of the farmer at the end of

2 minutes 20 seconds 3
A stone is thrown in a vertically upward direction with a velocity of 5 ms L. If the

acceleration of the stone during its motion is 10 ms 2in the downward direction, what
will be the height attained by the stone and how much time will it take to

reach there? 3

Derive the second equation of motion S= ut +1/2 at? graphically? 4
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CH- WHAT IS DEMOCRACY? WHY DEMOCRACY?

e s
A. Fill in the blanks: 10 |

1. In a democracy, the final decision-making power rests with those elected 3 T ———

2. A democracy must be based on a T L1 T T election where those

currently in power have a fair chance of .

3. In Saudi Arabia, women do not have the right to

' 4. Democracy is based on a fundamental principle of political
5. Zimbabwe attained independence from minority rule in 1980.
6. A democratic decision always involves many persons, ... and

7. Modern democracies involve such a large number of people that it is physically

for them to sit together and take a decision.

8. Democracy offers better chances of a good

9. The most common form that democracy takes in our times is that of a democracy.
10. is a major party of Mexico.
B. Write ‘T’ for true and ‘F’ for false statements: 10

1. Pakistan under General Pervez Musharraf can be called a democracy.

2. Popular governments can never be undemocratic and popular leaders can never be autocratic.

3. Elections offer a choice and fair opportunity for the people to change their current rulers.

4. Democracy is the only form of government in which there is no corruption at all.
5. Democracy is better than other forms of government in responding to the needs of the people.

. Democracy is helpless in enhancing the dignity of citizens.
Democracy can get us everything and is a solution to all problems.

The leader of ZANU-PF is Robert Mugabe.

Rule of law refers to a government that rules within limits set-up by the Constitutional law and

© ®» N @

citizen'’s right.

L0 Do

1v. General Pervez Musharraf led a military coup in Oct. 1997 in Pakistan.




C. Answer the following questions: \ \

1. Why is democracy considered the best form of government? Write in detail.

3
AATIG, onevsnesinssonisasssnrasssessossesssesasonsasissssssssoinsssssosss soasTisssssssHRETFIRIIIEIERIEsSOmmeve o o RO R O OO SRS oo s {
............ ‘I
~ 'a
t
2. Write a response to the following arguments against democracy. 3

(a) Army is the most disciplined and corruption-free organisation in the country. Therefore, army should
rule the country.

(b) Rule of the majority means the rule of ignorant people. What we need is the rule of the wise, eveniif
they are in small numbers.

(c) If we wantreligious leaders to guide us in spiritual matters, why not invite them to guide us in politics
as well. The country should be ruled by religious leaders.

Ans. ‘
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: A. Complete the following: 1x10=5
1. Education : Human capital 6. : Market activities
: Physical capital Self-consumption : Non-economic activities
2. Higher education : Better jobs 7. Education : Tertiary
Higher skills : Mining :
i 3. Agriculture : Green revolution 8. Low education : Low salary
Information technology : : More salary
4. Human resource : 9. Low income : Unorganised sector
Population : Human capital High Income :
5. Forestry : Primary 10. Japan:Developed nation
Quarrying : ; India:
| B. Write ‘T for true and ‘F’ for false statements: 1x5=5

1. Urban areas have seasonal unemployment.
2. Increase in unemployment is an indicator of depressed economy.
3. All states of India have basic health facilities.

4. Infant mortality rate is death of a child under 5 years of age.

ERREE

5. The tenth five year plan endeavoured to increase enrolment in higher education.

C. Match the following: 1x5=5§

Column I (Activity) Column II (Sector)

1. Poultry farming (a) Organised ()

2. Communication (b) Primary ()

3. Manufacturing (c) Tertiary ()

4. Maid (@) Unorganised ( )

5. Administration (e) Secondary ()

(f) Non-market ( )




1. Tick the corredt answer

yre of an unorgan
ent

jsed sector

1. One tealv
jes / High salary

Irregular employm / More facilit

of a country decided?

js the gmwlh rale

2. On what basis
’\' [4)

Literacy / Health / Qualit

is pm\'idcd to all ¢
| 6-16 years

{ pnpul.\li(m
hildren under the age group of

3. Flementary education
3-14 years / 6-14 years
go\'cmmcnt to increase retention among children?

T / Midday meals

r of good quality
literacy level

4. What is the step taken by the

Garva Shiksha Abhiyan /1
of life marked by self-confide
Nee?

ing is an indicato
s / Increase in income

5. Which one of the follow
/ Increase in

Increase in longevity of life

E. Answer the following questions:

n market and non-market activities.

1. State differences betwee

Ans.

Ans. e e

..............................
.......................
...............
.....................
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...................
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Multiple Choice Questions:

1. Interacting with others while exchanging information is called
a. Encoding
b. Decoding

& Messaging
d. Communication
2. Communication process involves which of the following?
a. Sender
b. Message
C. Communication channel
d. All of these
3 is the responsibility of the message receiver.
a. Encoding
b. Decoding
. Sending
d. None of these
4. The prime characteristics of a well encoded message are:
a. Clear and complete
b. Complete and correct
& Clear and correct
d. All of these
5. Video conferencing is which type of communication channel?
a. Oral
b. Technology-based
C. Written
d. All of these
6. Response to the received message id called

a. Feedback
b. Decoding

¢ Encoding
d. Communication
7. "I want this done right away!" is what kind of message?
a. Authoritative
b. Rude
ol Both a) and b)
d. Polite
8. Effective communication needs which of the following?

Mutually accepted communication code

Well encoded and carefully decoded message
Receiver's response to the communicated message
All of these

a oo



10.

I11.

12.

13.

14.

15.

16.

Which of the following ensures proper decoding of the message?

a. Better listening

b. Attention

C. Both a) and b)

d. Discipline

Which of the following is not an environmental barrier in communication?
a. Noise

b. Temperature

& Light

d. Defective communication medium

Emotional state aids in which type of barrier in effective communication?
a. Barrier to effective listening

b. Environmental barrier

C Situational barrier

d. Barriers related to personality traits
Verbal communication includes which of the following?

a. Oral

b. Written

c. Both a) and b)

d. None of these

Which of the following does not constitute noon-verbal communication?
a. Expressions

b. Silence

e Duration of communication

d. Gestures

Which of the following statements are false?

a. Written communication complements non-verbal communication
b. Oral communication has no legal value.

c Non-verbal communication complements oral communication.
d. You cannot stop non-verbal communication.

Which of the following is most costly mode of communication?
a. Verbal

b. Written
e Audio-visual
d. Oral

Which of these is false about the article "The"?

It is not used before abstract nouns.

[t is not used before plural and proper nouns.

It used before a specific nouns.

"The" is a definite article and all the above are true about it.

a0 oo



Exercise of Unit — 1 Communication Skills

B oW

© © N oW

What do you mean by the term Communication? List the features of effective communication.

You need to prepare for a classroom presentation of 10 minutes. How will you ensure effective
communication while presenting?

Describe any 2 communication barriers.

You are conversing with your friend about something important in a roadside open café in a
crowded market. You friend has to rush to receive his mother from the airport also. What are
the communication barriers in this scenario. How these could have been taken care of?

Briefly explain the terms Coding and Decoding taking a simple example.

Describe communication cycle with a simple example.

How oral communication different from written communication?

List the advantages of written communication.

List any 4 body language features that influence our communication.

Explain briefly how verbal and non-verbal communication occurs using Audio-visual aids.
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